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2. Read each question carefully and answer neatly.
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Section A (Reading)-20 marks

Al.Read the following passage and answer the following. (5m)
It is early morning. The road is asleep. Everything is quiet. But listen!

The birds are calling softly. “Chirrup, chirrup, chirrup,” say the sparrows.
“Chirrup, chirrup, chirrup.”

“Caw, caw caw,” says the crow. “Caw, caw caw,” “wake up, wake up.”

Here is someone else now. “Tring-a-ling, tring-a-ling.” It is the newspaper vendor.

a) What are the birds doing? (Am)
b) What time is it? (1m)
¢) Who is riding the bicycle? (1m)
d) Find the opposites of the following words from the passage. (1x2=2m)
a) awake

b) then

A2. Read the passage carefully and answer the following questions. (5m)

Mother your baby is silly! She is so very childish! She does not know the
difference between the lights in the streets and the bright stars. When we play with
pebbles, she thinks they are real food. She even tries to put them into her mouth.
When | open a book before her and ask her to learn her A B C, she tears the pages
with her hands and roars with joy at nothing. This is your baby’s way of doing her
lessons!

a) Add, 'ish’ to the given word to make a new word. (Im)

Example- childish



Baby -

b) Write the word of opposite meaning from the passage. (2m)

a) Foolish- b) bright.
c¢) Write the word of similar meaning from the passage (1m)
stones -
d) Why is the baby childish? Give one reason. (1m)
A3.Read the following passage and answer the following questions. (10m)

Once there lived a dog. He was very hungry. He wandered here and there in search
of food. He got a juicy bone from a butcher’s shop. He felt very happy. He took the
bone and ran away. He reached on a bridge of a river. He saw his own shadow in
to the water. He thought that there was another dog with a juicy bone in his mouth.
His mouth watered and he wanted to snatch that bone from him. He started barking
on him and as he opened his mouth, the bone fell down from his mouth into the
river.

a) Choose one word from the story and write against the statements. (1m)

One who needs food -

b) Choose the words from the story having the opposite meaning of the following

words. (2m)
i. Dry- i)Closed
¢) Choose the words from the story having the similar meaning of the following
word. (1m)
Reflection -
d)Choose the correct answer and fill in the blanks. (2m)
I.  The dog got a juicy . ( Flash, fruit, bone)
li. Hereachedona . ( Terrace ,Bridge, building )

e) Write ‘Yes’ or ‘No’ against the sentences. (2m)



1) The bridge was on a river.

i) The dog was hungry.
) Why did the dog wander here and there (1m)
g) What did the dog see into the water? (1m)

Section B (Texual Questions)- 10 marks

B1. Choose the correct answer. (1x2=2m)
1) The feet of the camel are
a)Thick and fat  b) Thick and padded c¢) Thin and padded

2) The horse was going to

a)Village b) City c¢) Hill
B2. Answer the following questions. (4%x2=8m)

a)Where did the mother tiger and her small tiger live?

b) Why do you think Meena was carrying her brother?

¢)Who does the postman brings letters for ?

d) What are the precious loads that trains carry?




Section C (Creative Writing) -10 marks

C1. Write five sentences about camel using the words given below. (5m)

Ship  store  water hump leaves padded

C2. Look at the given picture and write five sentences on it. (5m)




Section-D ( Grammar ) -15 marks

D1. Choose the correct option and fill in blank : (1X3=3m)
) Is the ship of the desert.

a) Camel b) Tiger c) Lion d) Kangaroo

inA mends our shoes.

a) teacher b) cobbler c) barber d) moo

1ii) The rabbit lives in a

a) sty b) burrow ¢) herd d) bunch
D2. Write the plurals of the following words. (2m)
a)Calf b) puppy
D3. Rearrange the words to make correct sentences. (1x2=2m)

a)Makes / a /clown /laugh / people




b)Caught / frog / tiger/ cub / the/ a night /one

D4) Make a sentence (Am)
Pounce -
D5)Underline the silent letters in the following. (2m)
a)Talk b) know
D6)Write the full forms of — (2m)
aWe’re b)it’s
D7)Fill in the blanks with can or cannot. (3m)
a)We  read and write.
b) Ababy  crawl.
¢) Old people walk fast.

Section E (Vocabulary) - 10 marks

E1.Give another word for the following (2m)

a)Dry grass-

b)Travellers in a public vehicle -

E2. Add —ful to make new words as shown in the example. (1m)

Eg: play-playful

care-




E3. Match the words with their opposites. (4m)

never short
tall happy
hot always
sad cold

E4. Make a meaningful word.

jgiter- li)semo u-

E5. Write the opposite word of -

Friend x

Section F (Spellings) - 10 marks

F1. Choose the correct word and fill in the blank.
1) She could not (hear / here ) properly
i1) I don’t (know /no) him.

F2.Write the words that rhyme with the following-

1) Fine i) hare

F3.Fill in the blanks to make meaningful words

DV_ Il ge i) n__ug_ ty i) l_ s ons
F4. Encircle the correct spellings.

a)Astronaut astrunout astronaught

b)Newsppaper newspaper newzpaper

(2x1=2m)

(1m)

(2x1=2m)

(2x1=2m)

(3x1=3m)

(3x1=3m)



c)Pasengers passenggers passengers

Section G (Handwriting)-5marks

Write the paragraph neatly. (5m)

Rabindranath Tagore, one of the greatest poets, was born on 6" May, 1861 at
Calcutta. He first wrote a book of poems called Evening songs. But the books
which made Tagore known all over the world as a great poet was Gitanjali. This

great poet of India died on the 7t"
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(Section A)
1. Fill in the blanks. (10x1=10)
a)12X3=__
b) 247,25, ,27W
c) _ glasses of water is needed to fill 2 mugs, if one mug can hold 6 glasses
d)____ children can wear 16 socks.
e)64+8=__
f)  +6=7
g) If 12 apples weigh 2 Kgs, then _ apples weigh 1 Kg.
h)8X9=__
i) 245+23=

J) 452-324=



2. Answer the following (5x2=10)

a)Each letter has a number. Ais 1, B is 2, etc. If | wanted to write “PLAY
GROUND” , You will write it as

b) Minku puts her 18 laddoos equally into 3 boxes. How many laddoos will
there be in each box?

c) One rail coach has 7 wheels. How many wheels in all in 6 coaches?

d) Add.
Rs 46.50 +Rs 12.25=

e) Subtract

Rs.46.50 - Rs.14.25=




(Section B)
3. Write true or false. (6x1=06)

a) Five notes of Rs. 10 make 100 rupees. ( )

b) If i\(=2 toffees then, i\( * * =10 toffees ( )

ALALA

d)Two dozen bananas are equal to 15 bananas. ( )

e) 500gr + gr =1Kg

f)HalfKg=__  gr
4. Choose the correct answer and fill in the blanks. (5x2=10)
a) There are 28 petals in 7 flowers. So there are petals in 1 flower.

b) If ARBECD =RED, then EBFLGUHE =

c) Radha poured a glass of water in a jug. It looked like this.

e m——

Radha should pour more glasses of water to fill the jug completely.

d) Multiply: 14 x7=

e) Write the total amount

Rs. 100 + Rs 60 + Re. 1=



5. Suman bought a compass box for Rs.68.50 and a drawing notebook for
Rs.26.50. If she gave a Rs.100-rupee note to the shopkeeper how much money
would he return to her? (4)

Ans:

(Section C)

6. The grades obtained by students of class Ill after SA-I are displayed. (1X6=6)

@ = 5 students

Mo. of students

a) grades were obtained by the maximum number of students.

b) Number of children who got 'Good' grade is

c)Number of children who got 'Very good' grade is
d)Number of children who got “CDB” grade is

e) grade is obtained by the least number of children.

f) The total number of children in class Ill is( more/ less ) than
100.



7. Answer the following. (5X2=10)
a) Write all the odd numbers between 240 to 250.

Ans:

b) Compete the pattern.
1,59 ,13, ,

c) Name two containers from your surroundings that hold more than one litre of
water.

Ans: 1. 2.

d) Ram poured water 8 times with his water bottle to fill a pot. Shyam poured
water 4 times with his water bottle to fill the same size pot.

(i)\Whose water bottle holds more water? Ram's / Shyam's.

(ii)Ram’s bottle can hold(twice/half) as much water as Shyam’s bottle.

e) Pothole A gets filled with 4 mugs of pebbles. Pothole B gets filled with 8 mugs
of pebbles. Pothole C gets filled with 12 mugs of pebbles.

(i) Which is the biggest pothole?

(ii)  If Pothole A gets filled with 6 jugs of pebbles, then pothole B gets filled with
jugs of pebbles.

8. Multiply : 24 x 63 by box method. (4)

X




(Section D)

9 .Do as directed. (1x6=6)

a) 12 big mangoes can balance a pumpkin. How many big mangoes can balance 2
such pumpkins?

Ans.

b) Which will require a big bag?

1 Kg. popcorn or 1 Kg. potato

c) Which will require a big bag?

1 Kg. cotton or 1 Kg. sugar

d) Addition
45+23=
e)  8+8+8+8+8+8= X =

f) Subtract 86-32 =

10. Do as directed. (2X5)

a) Mahesh works 4 hours a day in a factory. He works 6 days a week. How many
hours does he work in a week?

b) Write the following names in alphabetical order:
Ashok ,Manoj, Komal , Rohit

1. 2, 3, 4,




c) Complete the multiplication tree.

d) In a theatre there are 25 rows. Each row has 12 chairs. How many chairs are
there in the theatre?

e) Observe the following railway timetable of Hyderabad Express and answer the
following.

Distance from Mumbai (in km)|Station JFare in Rs.

36 Kalyan 28
83 Karjat 46
194 Pune 90

(i) Find the cost of 3 tickets from Mumbai to Punet?

Ans:

(ii)  Find the distance between Kalyan to Pune? Ans:

Ans:-

11. A squirrel jumps 2 steps at a time. A rabbit jumps 3 steps at a time. A
kangaroo jumps 20 steps at a time. A horse jumps 15 steps at a time.

(i) How many jumps of squirrel is equal to one jumps of Kangaroo. (2)

(ii) Who all will meet at 30? (2)
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General Instructions
This paper consists of
A: Observation and Reporting ---- 30 marks
B: Identification and classification ---- 25 marks

C: Discovery of Facts ---- 25 marks



Section A: Observation and reporting(30 marks)

1.Fill in the blanks with the help of words given in the brackets.(1x10=10)

a) Blind people read books in Braille Script by

(smelling/touching)

b) Lemons are of a plant.

(fruit/root)

c) The crow got a trowel from a : (black smith

/gold smith)

d) is India’s national game.

(Football/ Hockey)

e) Reena’s letter started in

(Delhi/Agartala)

f) We should feed animals when they are

(hungry/sleeping)

g) Tara lives with and nana.

(mama/Amma)

h) enjoyes watching television with others.

(Abbu/Habib)

i) Symbols are used on

(maps/ boards)

i) are woven to make a cloth.

(Threads/paper)
2.Give two examples of _ (1x5=5)

a) Wild animal

b) Indoor games




c) Leaves we eat

d) Medicinal plant

e) Clothes we use

3.Complete the boxes using the help box given.(1/2x10=5)

Kachnar flower, ajwain, radish, spinach, mango,

curry leaves,musturd seeds, amla, carrot , cauli flower

PARTS OF PLANTS
Fruits Flowers Leaves seeds Roots
4. Answer the following question . (2x5=10)

a) What are the things that happens in a family?

b) How we can use a Dupatta in many ways?




c) Write any two ways of reusing water.

d) How is a houseboat different from other houses?

e)What are the differencs between a letter and a phone call?

Section B:ldentification and Classification (25 marks)

5.ldentify the pictures and write their names. (1x5=5)




6. Match. (1X5=5)

Animals Why do we keep them
Dog We love it
Cow We get eggs
Rabbit It gives security
Honey bee We get milk
Hen It gives honey
7. Give reason. (2X3=6)

a) Pots are baked in a kiln.




b) Symbols are used in maps.

c)Houses are made on bamboo pillars in Assam.

8. Arrange and rewrite the steps in correct order. (1x4=4)
Shape the clay, collect the clay, bake in fire, knead the clay

Step 1.

Step 2.

Step 3.

Step 4.

9.Complete the journey of a letter. (1x5=5)

2. Writing address and putting stamp on it

3.

4.

[¢)]

. Sorting of a letter




Section C: Discovery of facts(25 marks)

10. Circle the games that are played using a ball. (1/2x4=2)
Cricket Stappoo Tennis Marbles
Seven tiles  Football Hockey chess

11. State true or false. (1/2x6=3)

a) One should share everything with their family.

b) Bhupen came from Molan village.

c) Water is used for drinking only.

d) Hopscotch is alsio called gilli danda.

e) We can send messages faster through telephones than letters.

f) Bhanate wanted to eat Phudgudi’s egg.

12.Choose the correct option. (1x5=5)

1.Seema likes to share all her news to

a) Ravi bhaiya b)nani c)both  d) none of these

2.House boats can be seen in

a) Kashmir b) Manali c)both  d) none of these

3.Totaram lives in for study.

a) Rawatbhata b)Mumbai c)both d) none of these



4.Clothes are used to our body.

a) clean b)harm c)cover d) none of these
5. The isused to collect the rain water in Madho's village.
a) tap b) tanka c)both d) none of these

12.Look at the map and answer the following question by writing LEFT/ RIGHT.

=T A EEE B

Ruchilrm's =
L__ 1
oL s

o il
School "I &

1. The schoolis to the shop.
2. Thewellis to the bus stop.
3. The hospital is to the post office.

4. The gardenis to the well.



13. Answer the following question (2x3=6)

a)Write some symbols that you have learntin mathematics.

b)Name the things that a potter needs to make a pot.

c¢)Who takes care of Tara?How?

14.Draw any two food items that we can eat uncooked. (1x2=2)

15.Draw any three garments we wear at home. (1X3=3)




